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‘M % ‘M % ‘M %
294 3 H H#IEE 2 DU -1 334,379 ( A 1.9) 22,603 ( A 7.2) 15,754 ( A 7.6 )
284 3 H 1% 2 U1 340, 815 ( 6.8) 24,362 ( 816.6 ) 17,049 ( — )
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‘M % (2 5
294 3 H H#IEE 2 U1 13,345 ( A 16.3) 60. 57
284 3 H HI%E 2 U1 15,937 ( 16.8) 77. 54
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294 3 H H#I%E 2 DU -1 1, 799, 762 203, 095 10.7
28 4 3 A # 1, 826, 141 197, 222 10. 2
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1. RERE (HEH)
v o= =¥ R iR A ST
M % Ele] % EVCle] %
294F 3 A WIEE 2 DU 14 322,368 (A 1.7) 19, 822 ( 0.6) 13,471 ( 4.0)
284F 3 A WIEE 2 DU -1 328, 074 ( 7.3) 19,707 ( 692.4) 12,947 ( — )
DU = H R 2% 1RRY 72 1 DY R 35
M % Moo
294F 3 H HIEE 2 DU -4 11,894 ( A 8.1) 53.51
284 3 H HIEE 2 DU -4 12,947 ( A 12.6) 62. 99
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2. MEBCREE
W' E wiog HOEAER
HrH HrH %
294F 3 A 156 2 DU -1 1, 739, 046 166, 053 9.5
28 4 3 H #f 1, 765, 091 160, 864 9.1




